11”79 (K1 17%79)

C/@ Linearized knot diagam
EJ2 T
o "

vl"\f) Solving Sequence

N~
‘ 14—>2—>58—>9—>3-—>7—>10—>6—> 11 —> C2,C5,C10
A knot diagranﬂ 1 4 Cg €3 €T  C9  Cg C11

Ideals for irreducible component#ﬂ)f Xpar

It = (—u'® —u® 4+ 9u® + 4u” — 3208 + u® + 46u* — 13u® — 12u* + 4b — 5u,
u'® 4+ 2u° — 8uB — 13u” + 28u® + 31u® — 47u* — 33u® 4 25u” + 4a + 17u + 5,
't + 500 + 200 — 21u® — 150" + 43u8 + 30u® — 30u* — 18u® — 12u”* — 1)
=040+ +1, a, u—1)

* 2 irreducible components of dim¢ = 0, with total 15 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I = (—u'®—u+-. - -+4b—5u, u'%+2u’+- - -+4a+5, vt +5u'04- . - —12u?—1)

(i) Arc colorings

o ()

0
a4: u
1
a2: u2
—u
as = \ —ud +u
—2ul® — 149 4 y—3
as = \ 1u10 4 1y9 4. 4 3u? + 24
—%ug—iu8+-~-—3u—%
ag= \Lyl0 4 1y9 ... 4302 4 3y
—u? +1
a3: u2
_iuw_%usﬂ_” L
a7: _ulo T3u9+' +'U;+%
_%ulo 1By .3y L
a10 = \ —5u'® — 3u® + -+ 8u? + 3
(it e
ag = \ —1y10 _ 1,9 Ly i, 1
6 g¥ ri R
<éu1o+éu9+_,,_18iu+§
ajp =\ L0419, . _7,_1
H gu tgut + s¥— 3
(éu10+§u9+~ 7%u+1§5
ajp =\ L1100 1,94 .7, 1
H gu Faut + g8
(ii) Obstruction class = —1

(iii) Cusp Shapes

_ 5,10 31,9 298 63,7 6_ 271,5 1,4 2113 | 65,2 , 91, | 1
= —Ju Tu Tut + Fu’ + 3% U 71u+4u+2u+4u—|—2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,¢4 utt —5utl 1202 41
C2 u 210t - 24u 4+ 1
c3,C7 ' — w4 4 8u+ 16
C5,C6,C9 wl—2u0 o oy —1
C10
cs, C11 wtt +120° + 38u” — 208 4+ 140’ — 12u* + 13w — w2 4+ 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C4 gt =210 24y — 1
C2 Yyt =73y 168y — 1
3, Cr ytt 2790 4 - 4 320y — 256
Cs5,C6, C9 y11+12y10++2y71
C10
cg, C11 y11+24y10+--~+2y—1




(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/—1CS) Cusp shape
u= 1.22744
a = —0.642449 —2.29341 —5.45610
b= 0.354025

u= 1.28076 + 0.60275]
a= 0.935338 4 0.4830171
b= —0.499697 — 0.3863671

1.86679 — 1.715071

—2.68555 + 1.257771

u= 1.28076 — 0.602751
a= 0.935338 — 0.4830171
b = —0.499697 4 0.3863671

1.86679 + 1.715071

—2.68555 — 1.257771

u = —0.286174 4 0.4446071
a= 1.20455 + 0.844681
b= 0.542271 — 0.7493721

6.37335 — 2.435101

2.89338 + 1.988801

u = —0.286174 — 0.4446071
a = 1.20455 — 0.844681
b= 0.542271 + 0.7493721

6.37335 4 2.435101

2.89338 — 1.988801

u=0.069460 4 0.2649571
a = —1.23197 — 1.540811
b= —0.189666 + 0.4522811

—0.058810 — 0.9984141

—1.10999 + 6.774591

u=0.069460 — 0.2649571
a = —1.23197 + 1.540811
b= —0.189666 — 0.4522811

—0.058810 +- 0.9984141

—1.10999 — 6.774591

u = —2.04088 + 0.267551
a = —0.131689 — 1.2555901
b= —0.04048 + 2.417621

—10.35590 4 6.751971

—2.99345 — 2.752761

u = —2.04088 — 0.267551
a = —0.131689 + 1.2555901
b= —0.04048 — 2.417621

—10.35590 — 6.751971

—2.99345 4 2.752761

u = —2.13689 + 0.095491
a= 0.044998 4 1.2930107
b= 10.01056 — 2.425671

—17.2404 + 2.68211

—5.87634 — 2.383771




Solutions to I Vv—1(vol +/—1CS) Cusp shape

= —2.13689 — 0.095491
0.044998 — 1.2930101 | —17.2404 — 2.68211 | —5.87634 + 2.383771
0.01056 + 2.425671

U
a
b




IL I = (b*+ b3+ b2 +1, a, u—1)

(i) Arc colorings

o= (o)

ayq =
a9 =
as =

ag =

(
(
(
()
o= )
(2
()
(
(
(

(ii) Obstruction class =1

(iii) Cusp Shapes = —4b% — 3b — 5



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! (u—1)*
4
C2,Cy4 (u + 1)
C3, Ct u4
Cs, Co ut —ud 4 3u? —2u + 1
Cs w4+ 41
Cg, C10 P+ 3+ 2u+1
c11 ut Fud 4?41




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4 (y_ 1)4
C3,Cr7 y4
Cs, Cg, Cg y4+5y3+7y2+2y+1
C10
cs, C11 v Y+ 3+ 2y + 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/—=1C8S) Cusp shape

u = 1.00000

a= 0 —1.85594 4 1.415101 | —4.47493 — 4.188401
b= 0.351808 + 0.720342]

u = 1.00000

a= 0 —1.85594 — 1.415101 | —4.47493 4 4.188401
b= 0.351808 — 0.720342]

u = 1.00000

a= 0 5.14581 — 3.163961 | —2.02507 + 3.476091
b= —0.851808 + 0.9112927

u = 1.00000

a= 0 5.14581 4 3.163961 | —2.02507 — 3.476091
b= —0.851808 — 0.9112927
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing

1 (u— D" = 5u® 4+ 4 12u% + 1)
€2 (u+ DM 4+ 2100 4 - — 24u 4 1)

€3, 07 ut(utt —u® 4o 4 8u + 16)
Ca (uw+ DY —5ut0 + - 4 12u% 4+ 1)

Cs, Co (u —u® 4+ 3u? — 2u+ 1) (ut — 200 + - 4 2u — 1)
Cs (u* —ud +u® + 1)t +120° + - —u? + 1)

€9, €10 (u* +u® +3u® +2u+ 1) (u — 20+ 4 2u— 1)
c11 (u* +u? +u? 4+ 1) (et 120 + - —u? 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
1,4 (y— DYy =21y 4 -+ — 24y — 1)
€2 (=DM = 73y" + -+ 168y — 1)
cs, cr y (yt 27y - 4 320y — 256)
057667;2 (y4 + 5y3 + 7y2 + 2y + 1)(y11 + 12y10 o2y — 1)
cs, C11 W' +y’ +37 + 2+ D" + 24y 0+ + 2y — 1)
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